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Propiedad asociativa (Digito Faltante)

Nombre;

Encontrar € valor den.

1) nx(10x2)=(0x10)x2

2) (2x6)x10=2x(nx10)

Respuestas

A.10 A.10
B.1 B.7
C.10 C.6 2,
D.2 D. 10
3.
3) Nnx(2x5)=(6%x2)x5 4) 9x(nNx3)=(9x1)x3
A.6 A.l 4.
B.5 B.3
C.2 C.9 5
D.8 D.3
6.
5 7x(5%x6)=(7%Xn)x6 6) 9x(1x4)=(nx1)x4
A.7 A.9 7
B.6 B.4
C.7 C.1
D.5 D.1 8
9.
7) (nx9)x6=1x(9%6) 8 (Nx3)x6=5x%x(3%6)
A.0 A.3
B. 6 B.4 10
C.1 C.5
D.9 D.6 11.
9) 8x(3xn)=(8x3)x0 10) 5x(9xn)=(5x9)x8 1
A.8 A.2
B.3 B.5 13.
C.2 C.9
D.3 D.8 14.
11) nx(3x0)=(8%x3)x0 12) (nx10)x2=8x(10x2)
A.8 A.4
B.0 B.2
C.5 C.2
D.3 D.8
13) 1x(7%x4)=(nx7)x4 14) 7x(1x10)=(7x1)xn
Al A.9
B.4 B. 10
C.8 C.7
D.7 D.1
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Propiedad asociativa (Digito Faltante)

Nombre: Clave De Respuestas

Encontrar € valor den.

1) nx(10x2)=(0x10)x2

2) (2x6)x10=2x(nx10)

Respuestas

A. 10 A. 10 1 D
B.1 B.7
C.10 C.6 2. C
D.2 D. 10
3 A
3) Nnx(2x5)=(6%x2)x5 4) 9x(nNx3)=(9x1)x3
A.6 A1 a A
B.5 B.3
C.2 C.9 5 D
D.8 D.3
6. A
5 7x(5%x6)=(7%Xn)x6 6) 9x(1x4)=(nx1)x4
A7 A.9 ;- C
B.6 B.4
C.7 C.1
D.5 D.1 8. C
9. B
7) (Nx9)x6=1%x(9%6) 8 (Nx3)x6=5%(3%6)
A.0 A.3 10 D
B.6 B.4 '
C.1 C.5
D.9 D.6 1. A
2 D
9) 8x(3xn)=(8%x3)x0 10) 5x(9xn)=(5%x9)x8
A.8 A.2
B.3 B.5 13. A
C.2 C.9
D.3 D.8 14. B
11) nx(3x0)=(8%x3)x0 12) (nx10)x2=8x(10x2)
A.8 A.4
B.0 B.2
C.5 C.2
D.3 D.8
13) 1x(7%x4)=(nx7)x4 14) 7x(1x10)=(7x1)xn
Al A.9
B.4 B. 10
C.8 C.7
D.7 D.1
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